AT 5 T 9IRS X TR VA A DA A e A A TR B UM T i RS

e [EEmEs| #4 SHriESH Rz AR BB 48 R HiRBS (BEAL| REHARRTE
1 301 FL | 513030k 3714 e vl P T 92. 60 2
2 304 Bt | 441621 %sksksokk 246X e vl FE T 92. 30 B2
3 302 FxR | 232103k 3724 o e vl P T 88. 40 ’ FS
4 k% M | 44172 Dseksssoksx 1104 T b PR i T o
5 103 Xzt | 51032 Lk 0033 o TR UM 85. 60 7
6 104 TrfE | 44148 %skksknk3854 e TR UM 84. 90 7
7 102 Tt | 4290065kskskk0040 e e TR UM 82.70 ’ FS
8 e FEslih | 362334s%kkskxk%%8025 o TR UM % 5
9 401 x| 44088 Lkkskkkrk5173 003 AR U 83. 80 2 £
10 403 B2t | 441322%kskkkk%436X e AU 92. 80 B2
11 402 Zix | 441622%kkx555k%4703 o0 A S T 91. 40 : &
12 305 fifx3E | 431124%%skkkkx1624 15 T S 93.70 =
13 306 TR | 441602%%kkkkk1225 1= T S 90. 80 =
14 307 B | 44138 Dskeokokrkx5048 o 1= T S 90. 26 ’ =
15 308 TR | 44162 rkkksorkx6226 R T s T 87. 50 &
16 202 Bkl | 360732%kkkk%5%010X AR BUA T | 91. 40 s
17 201 Fx | 431224%kk55k68004 e e AR BUR 2T 88. 50 : &
18 501 B | 36072 Lskssksorsk001 1 b= 87. 70 7
19 e THE | 411329%k%5555%0336 o LN R : 75
20 405 Foxfh | 4416025%kkx55%0623 O EAERREOT | 91,10 &
21 404 xS | 36072 THkkksknkkx2048 e O EARRROT | 87.70 : 75
22 212 B, | 441602k kkskk 1742 7] S 91. 40 &
23 213 HerbE | 44162 1%k 42X 7] S 91. 30 &
33 205 AR | 362322%kkkkkx%3928 FIH B SCEUT 89. 90 s
24 203 Rl | 441625%kskxk5%2749 FIH i SCEUT 89. 30 &
25 206 el | 441623%kskkx50386 FIH B SCEUT 89. 20 &
26 215 M | 441623%%055055%0020 7] S 88. 20 &
27 208 Frx | 360782skkskskxk2526 009 FIH B SCEUT 88.10 6 7
28 209 JHIE | 360730%kkkkskx%2663 FIH B SCEUT 87.10 75
34 210 Bl | 441621 %xkkiknk302X FIH B SCEUT 86. 60 75
29 207 BEkdF | 441621 %kkkkkxk2226 FIH B SCEUT 64. 80 75
30 s Bl | 44162 Dkksksknkrx6422 FIH B SCEUT TR 75
31 R x| 441622%%%kk%%%5485 WIHAE SCHUT i %
32 b B0 | 430426%kkx5555%0020 FIH B SCEUT TR 75




AT 5 T 9IRS X TR VA A DA R T A A TR B UM T i RS

e [EEmEs| #4 SHriESH Rz AR BB 48 R HiRRS (BEAL| REHARRTEE
35 511 Biafl | 4416225k 1809 IRV E =] 88. 80 B2
36 507 JA*FE | 441625%kkskkx%2758 IRV E =] 88. 40 &
37 510 x| 441424%k855k%4908 IRV E =] 83.90 &
38 504 Mot | 4405823 kskssokkx3454 IRV E =] 83.70 &
39 508 Bt | 441624%%skkx5k0828 IRV E =] 83.10 &
40 506 LT | 441622kkskk% 4662 oo I 20T 82.70 i @
41 503 Fx | 21138 skksksnsok3069 IRV E =] 80. 50 4
42 b 1T | 412728%kkkkkx%5722 IRV E =] TR @
43 Bt FHE | 22052 1#kkkericrk(0026 W B ZUT et 5
44 s Pz | 360732%kkkkkkk%363 1 BRG] % @
45 111 Sk | 441624%kkkkkx% 1443 ] S E T 88. 90 s
46 108 x| 441424%%5k555%%5526 GG ] 87. 40 &
47 112 Bisklil | 341221 %kskskk4%6982 GG ] 86. 70 &
48 105 Mik | 44162 [k 704X LT ] 86. 40 &
49 107 Zex | 362426k kskskkkkT 346 o LT ] 85.90 ! o
50 110 ikt | 430426%kkxk54%8268 LT ] 83. 70 75
51 b Pl | 360782%kkkkkxk6827 LT ] % e
52 B Wix | 360734skkskkkkk0027 )b S H B 5
53 407 FHfE | 370123856215 GIRREYEE L] 84. 60 2
54 408 Mik75 | 441621 %kkskkk6729 I ER T 84. 30 2
55 406 BxtE | 440281 %okt 075X o I ER T 82. 80 ’ &
56 e HexdF | 22088 1kskkskknk(042 I ER T % 75
57 410 VP | 441402544k 1521 I A 20T 93. 60 &
58 411 MRl | 4413025%kskxk%2026 o I A 20 92.00 : 75
59 216 it | 142202%kkkkk4k2378 014 WIhEE S REEIT | 92. 36 1 &
60 309 FRalk | 441421 %skskokk2724 1[5 s 91.90 &
61 310 gy | 220104skskkkk692X 015 LR ] 89. 76 2 2
62 311 Bk | 412829k k5622 B J73 s 88. 22 e
63 315 PhE | 15210 1 skskssoosok 242X 7+ b 2 T 92.90 &
64 b Her L | 4452225 kkkkkkk4344 FTH H R 2 % 75
65 B x| 370826%kkskkkkT7451 e FTHH H R 2 R ’ o
66 b Hx | 340822%kkkkxk%1149 FTHH H R 2 R 75
67 415 Sl | 362421 kskkiknk5014 B A= P 92. 60 &
68 413 #iPt | 36072 THkkksknkkx3340 B A= P 87. 50 &
69 414 k| 500229%kskskxk0616 o B A= P 85. 60 ) o




AT 5 T 9IRS X TR VA A DA R T A A TR B UM T i RS

FP5 (BEMES| H4a B E S KAz ARED SRR HHSE |[HEAS| REHEAREFEE
70 e B | 412826%kekkorkok 352X IR MERY B2 Y R 75
71 115 MRt | 441424%kkom0ko0k4886 IR =S U 82. 60 e
72 114 fF2 | 441602%kkskokk0423 B b AR B0 79. 60 e
73 113 Gkt | 372929kt 4827 o IR =S U 78. 50 : H
74 116 i | 430602%kksokockk 7449 B b AR B0 77.40 &
75 515 Kl | 441622%kkk0kkx 3062 Kb i & B 83. 70 e
76 513 ik | 422802%kkskokookok 3442 Kb ik & B 79. 10 R
77 514 Xl | 441324%skks0k00kk1 045 Kb ik & B 77.60 e
78 516 it | 44088 3kekokiokk5052 o LRk LN =ES ¢ 73.20 ’ &
79 e Zk | 360103k k4428 HIrh ik & B R H
80 s ARM | 440229%skkkkxx001 1 IR =E U] % @
81 416 Ji* | 362502%kskickick2636 B B RRZOM | 90. 40 3
82 419 Bk | 441602kskickick]1223 B B RRZOT | 88.50 3
83 418 BT | 445224kmkkik1 305 00 B B RRZOT | 88,30 : 75
84 417 okl | 441622%kkkik4667 I B RROM | 84.70 75
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